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FIERCRE © 7 a2 UNSWIE) - Ef (K& WIE) FIRI . 4Fn 34£128 8H (k)
JIE 57 = INH 4 oUT IN GROSS | HDCP NET i &

1 {7 | ARF FE— 44 43 87 19.0 | 68.0 |[HADY

2 7 | Tk HESL 46 50 96 28.0 68.0 | HAY

3 AL /MG S 47 43 90 20. 0 70.0 |EAHY

4 L | pRCH A 52 41 93 23.0 70.0 |BAHY

5 fif |7 ~EET 51 48 99 29. 0 70.0 | AV

6 1 | EEH 5= KES 46 45 91 19.0 72.0 |EHY

7 L | AR KA 43 50 93 20. 0 73.0 | BEAHY

8 {if | EH 50 53 103 30. 0 73.0

9 i | IR #5F 47 47 94 20.0 74.0

10 I\ | =% Fn+ 48 46 94 19.0 75.0

11 {7 | A R 44 50 94 19.0 75.0

12 {37 | (e #f—ER 46 49 95 20. 0 75.0

13 fir |5 H &I 48 47 95 20. 0 75.0

14 A7 |3 B 49 48 97 22.0 75.0

15 {7 | N & 48 49 97 22.0 75.0

16 7 | 1A il 50 57 107 32.0 75.0

17 A7 | ZNA] i 5] 51 47 98 22.0 76.0

18 fir L &I 48 51 99 23.0 76.0

19 A7 | B ] —H1 50 53 103 27.0 76.0

20 {7 | PEH FH 55 51 106 30.0 76.0

21 A7 | & 49 47 96 19.0 77.0

22 {7 | Bl FRER 51 49 100 23.0 77.0

23 fir | KM H722 50 52 102 25.0 77.0

24 L |5 BEAT 52 52 104 27.0 77.0

25 {7 | R ¥R 49 54 103 25.0 78.0

26 . |WA [z 51 55 106 28.0 78.0

27 fr | AKf — 52 47 99 20. 0 79.0

28 7 |NH X1 49 51 100 21.0 79.0

29 {7 | BTy & 53 48 101 22.0 79.0

30 fi7 | /NEF FET 53 49 102 23.0 79.0

31 A7 | Bl BT 61 54 115 36.0 79.0

32 A7 | $TH B+ 51 48 99 19.0 80.0

33 L | 30 KA 55 48 103 23.0 80.0

34 {7 | =18 EF] 50 54 104 24.0 80.0

35 fif |HFH == 57 48 105 25.0 80.0

36 iz | AR Kz 53 54 107 27.0 80.0

37 AL /N TR 59 57 116 36. 0 80. 0

38 fiz | TH #ih 55 47 102 21.0 81.0

39 N | A gelid 55 56 111 30.0 81.0

40 {37 |5 H FF—EB 55 57 112 31.0 81.0

41 A7 | JE 51 50 101 19.0 82.0

42 fir | B— 47 55 102 20. 0 82.0

43 fif | iy — =5 58 54 112 30. 0 82.0

44 N | KK BES 51 52 103 20. 0 83.0

45 AL | ik TE= 52 52 104 | 21.0 83.0

46 {7 | FATH PEC 51 56 107 24.0 83.0

47 N | Fiafer ZREE 54 55 109 26.0 83.0

0 0

48 {7 | TH HEF 51 53 104 20. 84.
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FNERZHE © 27 m X UNSWIE)  « FE# (K& WIE) FIRI . 4Fn 34£128 8H (k)
JE A7 S INH 4 oUT IN GROSS | HDCP NET it &

49 {7 | A 52 54 106 22.0 84.0

50 fi7. | =FF e, 58 55 113 29.0 84.0

51 fir |k i 60 50 110 25.0 85.0

52 N | &l 2oL 55 58 113 28.0 85.0

53 fif | By 0 P& 64 53 117 32.0 85.0

54 L | WA HET- 65 56 121 36.0 85.0

55 fif | Ki& WA 57 52 109 23.0 86.0

56 i\ | fnAS IE 61 56 117 30.0 87.0

57 i |8 A 57 67 124 36.0 88.0

58 fif | WA 52 57 109 20.0 89.0

59 fif |3 & 52 58 110 20. 0 90. 0

60 L | AR IRAR 64 51 115 25.0 90. 0

61 17 | FJJI =1 59 67 126 36.0 90.0

62 1. | Fov 56 59 115 24.0 91.0

63 N | /IMAJR B 60 59 119 | 28.0 91.0

64 {7 |RH FEEE 54 58 112 19.0 93.0

65 N |ITRE AFHE 61 64 125 32.0 93.0

66 iz AL BEHF 63 59 122 28.0 94.0

67 AL | ] §F 71 64 135 36.0 99.0

68 {ir | )1 & 66 61 127 24.0 | 103.0




